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Data Analysis
Status Quo

* Full data of the testbeam available
o Started with hit-based quality and consistency checks

e TJarget A: Tungsten Foil, Target B: Lead Foll
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Physics quality check

Run 1285, Full setup with both foils, XY Hit Integral, 1.1M Events
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Physics quality check

Run 1285, Full setup with both foils, Number Hits/Event
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Physics quality check

Run 1131, Full setup with Target A only, XY Hit Integral, 100k events
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Physics quality check

Run 1131, Full setup with Target A only, XY Hit Integral, 100k events

n_hits_0
n_hits_0

— Entries 100567
50000 — Mean 1.559

B Std Dev  0.9497
40000 |—
30000 |—
20000 |—
10000 —

0 B 1 I ﬁ_l | | 1 I 1 1 1 l 1 1 1 I 1 1 1 I 1 1 1 | 1 1 1 I 1 1 1
0 4 6 8 10 12 14 16 18 20
n_hits_1

_ n_hits_1

| Entries 100567
60000 — Mean 1.137

= Std Dev  0.8051
50000 —
40000 —
30000 —
20000 |—
10000 {—

0 — 1 | 1 — — | I 1 1 1 I 1 | 1 l 1 1 1 I 1 1 | I 1 1 1 | 1 1 1 | 1 1 1
0 4 6 8 10 12 14 16 18 20

n_hits_2
n_hits_2

70000 Enties 100567

u Mean 0.3467
60000 - Std Dev  0.5164
50000 —
40000 —
30000 —
20000 —
10000 —

0 u | - L1 I L1 1 I | I | I | I | I 1 1 I L1 1 I | I | I | I — | I L1 1
0 2 4 6 8 10 12 14 16 18 20
n_hits_3
n_hits_3

— Entries 100567

- Mean 0.3662
60000 — StdDev  0.533
50000 —
40000 —
30000 —
20000 —
10000 —

0 B 11 | I | I L1 1 I L1 1 I 1 1 l L1 1 I 1 1 I | I | I 1 1 I 1 1
0 2 4 6 8 1< 12 14 16 18 20

n_hits_4
n_hits_4

- Entries 100567

— Mean 0.363
60000 [ Std Dev 0.5358
50000 —
40000 —
30000 —
20000 —
10000 —

0 n L1 ﬁ | l | I | I | I | I | I I | I | I | I | I | I I L1 1 I 1 1
0 2 4 6 8 10 12 14 16 18 20
n_hits_5
n_hits_5

700007 Entries 100567

u Mean 0.3592
50000 —
40000 —
30000 —
20000 —
10000 [—

0 N 11 Tl | I | I | I 1 1 I 1 1 I L1 1 I L1 1 I L1 1 I L1 1 I 1 1
0 2 4 6 8 10 12 14 16 18 20




Physics quality check

Run 1132, Full
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Physics quality check

Run 1132, Full setup with no Target, XY Hit Integral, 91kOk events
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Wrap up

 Data files seem consistent in data integrity and physics wise
 Next steps:

o Alignment

* [racking

* Angular Distribution

 Simulation



Where are we at?

GEANT4 simulation
17.5 GeV Electrons + Tungsten Target

Angular IP width: 3.3 X 10~ /rad 1’|
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Experimental Situation?
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